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A ARITEOIRA
M pARlEAEE
Hel: SAEE 22 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OMAEZ2ZER 7Y S 17,100
401 AIEHIX SO 80,000 80,000
01 Al&H| 80,000 80,000
oglizd 2+ 80,000
s=0ts 2g2¢c 57,216 55,220 1,99
101 21AH| 23,99 22,000 1,99
04 JIZtN2 2N S 2+ 23,9% 22,000 1,99
s=0l= =Xl 2el 23,9%
201 2egh=3| 16,120 16,120
01 At22t2lt] 6,120 6,120
Os=dz € 1g8Hl S 6,120
2 s5=34l 10,000 10,000 0
Os=0tg /A £ +=d 10,000
206 MH=H| 17,100 17,100
01 M=4l 17,100 17,100
OssAME7E 17,100
SMEFAZ A FA 16,200 16,200
401 AIEHIZ R HYI 16,200 16,200
04 HARZHEAI 2] 16,200 16,200
Osgl=d =d 16,200
NAMAA S 300,000 300,000 0
202 04l 5,160 4,000 1,160
01 =LHAHI 5,160 4,000 1,160
ONASAYE 22Ae 5,160
401 AIEHIX R0 294,840 296,000 21,160
01 AlZ2H| 287,500 287,660 A160
OXAS Y E2AE 287,500
02 2/l 6,180 6,180 0
OXNHZ e 22Ar 6,180
03 Al 20HHI 1,160 2,160 21,000
OMHZ Y 22Ar 1,160
MASLEE2E 636,855 483,184 153,671
101 @124H| 368,215 300,000 58,215
04 JIZtNZ22 NS+ 368,215 300,000 58,215
OX=2E JIZLMZZ2AF 2121] 388,215
201 fer=3| 224,235 137,235 87,000
01 AtR2t2|HI 109,835 52,835 57,000
OXgsdel AlZd2eH(AZE & HIER
o) 109,835
2 352484l 114,400 84,400 30,000
Otz 2e Ald2eldl Ol & SX) 114,400
206 M=l 9,405 9,406 0

_17_




A ARITEOIRA
M pARlEAEE
Hel: SAEE 22 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 MHZH| 9,405 9,406 0
OXtA=2d AlE MHEH 9,405
305 =S 5,000 5,000
01 =S 5,000 5,000
Ol A0 [HE Editiat= 5,000
405 AtatE = 40,000 31,544 8,456
01 TR =S FISHI 40,000 31,544 8,456
OXisdd =578 40,000
=l MESTH2Y S 22 132,380 85,998 46,382
= 66,190
s 66,190
307 elztol & 132,380 85,998 46,382
= 66,190
[ 66,190
05 2I2tRIE =S 132,380 85,998 46,382
O=ol& M4H=STNH2Y A2 132,380
= 66,190
= 66,190
AHSsuEEE 33,300 30,419 2,881
101 e124d| 18,300 16,738 1,562
M ORNZZ2NSE S 18,300 16,738 1,562
OXtgstg=2g 22| 18,300
201 er23 | 5,000 4,276 724
01 At2teltl 5,000 4,276 724
OXgdets s ulHE & 228 8 5,000
206 MH=H| 10,000 9,406 595
01 M=4l 10,000 9,405 595
OXtglets IS M7 10,000
AEMHIAER0l 2SR (22l 54,176 27,088 27,088
101 e124d| 54,176 27,088 27,088
M ORNZZ2NSE S 54,176 27,088 27,088
O=def2e| el 54,176
AHMHIAER0l 2SR 403 2 =Z(22/) 6,000 3,000 3,000
101 @124H| 6,000 3,000 3,000
M ORINZZENSES 6,000 3,000 3,000
OLHEAMBIAZL0] 02 & =& 6,000
CRa2C 19,000 19,000
201 er23y| 10,000 10,000
01 AtR2t2|HI 10,000 10,000
O[T 22| 2F (AFR2teld]) 10,000
202 04| 9,000 9,000
01 =LHOLI 9,000 9,000
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A ARITEOIRA
M pARlEEE
el SoE dE3IFaL (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 Al&HI 3,193,8% 3,100,000 93,8%
OAURHESE URFAL & &l S 3,193,8%
= 193,89%
= 3,000,000
02 Zeltl 92,623 92,040 583
OAUSRTHAEEY LUR=A L 2H S 92,623
03 A& S CHYI 479 465 14
OALIRTHEEY LIRFAL L X S 479
AETHSH Xt EOI(MHEHSHE LS _EHer) Z &t 97,618 97,618 0
= 48,809
== 48,809
101 @124H| 87,618 89,618 22,000
= 43,809
< 43,809
04 JIZtN22 XS 2+ 87,618 89,618 A2,000
OuteEaliE =M 87,618
= 43,809
= 43,809
201 223 10,000 8,000 2,000
= 5,000
=S 5,000
01 At2t2ltl 8,000 8,000 0
OXte Xyl & I &xXe S 8,000
= 4,000
< 4,000
02 S3=gHl 2,000 0 2,000
Outedolis LM g 77l 2,000
= 1,000
= 1,000
AHETHOH L Kt EOI(MHEHSH ZE LT _EHeH K= 2,89 2,89 0
= 1,449
=S 1,450
405 AHatE = 2,89 2,89 0
= 1,449
< 1,450
01 ML ESF SHI 2,89 2,899 0
OWZEYMN =+ 78 S 2,89
= 1,449
= 1,450
2LBHANSLAI(E ) 9,198 9,198 0
= 4,800
= 4,398




A ARITEOIRA
M pARlEEE
el SoE dE3IFaL (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 Al HIZL 2018 9,198 9,198 0
= 4,800
== 4,398
01 Al&H| 9,198 9,198 0
OgtdlE Xl 9,198
= 4,800
& 4,398
FASIHRII(Ef ) 381,844 329,538 52,306
= 190,922
= 190,922
401 Al HIZL S 0HYI 381,844 329,538 52,306
= 190,922
=S 190,922
01 Al&H| 364,610 306,034 48,576
O=2t301 354,610
= 177,305
[ 177,306
02 Zcltl 26,880 23,198 3,682
O=JH0| 26,880
= 13,440
= 13,440
03 Al 20HHI 354 306 48
O=2t301 354
= 177
== 177
(B 24,010 24,010 0
= 9,844
= 14,166
401 AlZHIZ SO 24,010 24,010 0
= 9,844
= 14,166
01 Al&HI 24,010 24,010 0
o= 24,010
= 9,844
=S 14,166
ST AL (EHQH (M EALY) 227,860 227,860 0
101 @124H| 13,360 13,360
MU IIRINZZENSES 13,360 13,360
Oogzel 13,360
401 Al HIZ S OHbI 214,500 214,500
01 A28l 209,555 209,555
OY =AY 209,555
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A ARITEOIRA
M pARlEEE
el SoE dE3IFaL (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 Zeltl 4,736 4,736 0
O A 4,736
03 A2 THYI 209 209 0
OSEA 209
AHEEALS (EHQH) 81,000 81,000 0
= 56,700
= 24,300
401 AIEHIZ SR 0HYI 81,000 81,000 0
= 56,700
S 24,300
01 Al&H| 80,758 80,758 0
O&FXIArE 80,758
= 56,530
== 24,228
03 AIZ S THYI 242 242 0
O&HXI AL 242
= 170
= 72
srelE sl (Efet) 252,780 245,373 7,407
101 e124d| 45,000 45,000 0
M ORNZZ2NSE S 45,000 45,000 0
Oodtglaeld 45,000
201 Ler23| 33,088 25,681 7,407
01 At2teltl 25,088 22,681 2,407
Ottd=2s UAXIN OHE FHIEXE S 24,000
OutE el =SXE & Hla22 A SAH|
= 1,088
02 35244l 8,000 3,000 5,000
OLr2ASIAHANAY 23 E RFHI 8,000
202 04l 5,340 5,340
01 2LHoIH 5,340 5,340
OSgaEX 2 2o L MEEs L 5 5,340
206 M=l 2,352 2,352
01 M=4l 2,352 2,352
O=2olis & &8 Holls S+ S 2,352
401 AIEHIZ SR THYI 157,000 157,000
01 Al&HI 157,000 157,000
O4tE S L THOH Gl ALY 157,000
405 AHaHE S 10,000 10,000
01 TR ESF SHI 10,000 10,000
Ot=USHE HIS 7 S 10,000
ATHOH L Xtel SOI(AEX S 0L EISHH_EHRH) 320,073 300,062 20,011
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A ARITEOIRA
Hm: NRBADE
ol JRYE AEF 2L EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 28,900 10,900 18,000
= 11,560
== 17,340
2 s5=34l 28,900 10,900 18,000
OLEAZIAIE AXIZHAIAE SHE 2,600
= 1,040
& 1,560
OLZSASIAIE R+ 26,300
= 10,520
= 15,780
XHS3el TH(EfeH) 104,085 104,085 0
= 52,043
< 52,042
401 AIEHIX SO 104,085 104,085 0
= 52,043
& 52,042
01 AlZ2H| 95,578 95,578 0
OXNHEsE x4 95,578
= 47,789
= 47,789
02 2l 8,315 8,315 0
OXE S5ty &4 8,315
= 4,158
== 4,157
03 Al =2 THHI 192 192 0
OXNY S &4 192
= %
= %
LR (B 24,100 24,100 0
= 12,050
S 12,050
401 Al HIZL 201 24,100 24,100 0
= 12,050
== 12,050
01 Al&H| 24,100 24,100 0
OZURxE 24,100
= 12,050
< 12,050
JISTISHEZ (EHCH) 28,718 28,718 0
= 14,359
= 14,359
401 AIEHIZ SR HYI 28,718 28,718 0
= 14,359
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A ARITEOIRA
M pARlEEE
el SoE dE3IFaL (Gt H2)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
< 14,359
01 AlIZHI 28,718 28,718 0
OJtshloi =8 28,718
= 14,359
== 14,359
osedy & =528 24 2,908,497 3,147,954 A239,457
= 81,611
S 2,826,886
KIS = 208 (EH L) (M ALY 900,000 900,000 0
202 04| 3,000 3,000
01 2L AL 3,000 3,000
OX XA A S 2 E 3,000
401 AlEHIZ S 0HbI 897,000 897,000
01 AlZHI 876,400 876,400
OX AKX A F 2 876,400
02 Zteltl 16,500 16,500 0
OXAHIX A = 2 16,500
03 A& S THYI 4,100 4,100 0
OXIXHHM A = b 4,100
R akel 2t (Efet) 728,3% 575,025 153,370
101 2124d| 418,095 319,824 98,271
04 JIZtNZ22 NS+ 418,095 319,824 98,271
Ol s etg 2t 216,182
OXA S L 2| (LAIAIS) 100,000
O sdedate|(DE2H) 101,913
201 L2 220,000 176,500 43,500
01 AtR2telbl 80,000 76,500 3,500
OXt s g2l 80,000
02 2324l 140,000 100,000 40,000
OX s g2l 140,000
202 04l 2,300 1,951 349
01 =LHOALI 2,300 1,951 349
Ot s etg 2 2,300
206 M=4l 8,000 6,750 1,250
01 M=4l 8,000 6,750 1,250
OXt s eg 2l 8,000
401 Al HIZ 2018 50,000 50,000
01 AlIZHI 50,000 50,000
OX s g2l 50,000
405 KHAHF SH] 30,000 20,000 10,000
01 M ESFH S| 30,000 20,000 10,000
OXgsdelze|(2E37Y) 30,000
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A ARITEOIRA
M pARlEAEE
el Y3 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 2LHoIH 10,000 5,000 5,000
OXZEA 24 I 10,000
401 Al HIX S0 4,590,000 8,991,000 24,401,000
= 90,000
= 4,500,000
01 A28l 4,590,000 8,569,000 A3,979,000
ONgE &M 4,590,000
== 90,000
£ 4,500,000
N = 2el(eet) 327,126 299,314 27,812
101 @124H| 70,776 64,814 5,962
M ORINZZ2NSE S 70,776 64,814 5,962
OXNZEE 2| 224t 21AH| 70,776
201 er2 3| 27,050 25,750 1,300
01 AtR2telHl 12,750 12,750 0
OXg&EH 2el 25 7Y 12,750
02 S3=gHl 14,300 13,000 1,300
OXNZLEH 52 34 14,300
206 M=Hl 25,000 4,500 20,500
01 MHZH| 25,000 4,500 20,500
OXgEa 2el ME 7Y 25,000
401 Al HIZ 2018 200,000 200,000 0
01 Al&H| 195,300 194,000 1,300
Oets: Xgda 22 195,300
02 Zcltl 4,200 5,500 21,300
Ooetd: g 22 4,200
03 Al 20HHI 500 500 0
OHE TEE 22 500
405 AHAHE S 4,300 4,250 50
01 AL =S F = 4,300 4,250 50
OXg&& 22l DI #S 4,300
CRE Met2eDgtad 908,708 890,708 18,000
= 313,295
< 595,413
P (2Y) 448,315 448,315 0
[ 313,295
= 135,020
202 04| 3,584 3,584 0
[ 2,504
= 1,080
01 =LHO LI 3,584 3,584 0
(@Fdral=i= 3,584
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SA - B SRIBH) - MRAR - BAS A HIDEZ
= 2,504
=S 1,080
401 AIZHIZ SO 444,731 444,731 0
= 310,791
& 133,940
01 Al=2H| 433,963 433,585 378
rdzal=] 433,963
[ 303,267
= 130,696
02 2/l 9.872 10,250 A378
@Fdral=i= 9.872
[ 6,898
=S 2,974
03 A2 2 0HYI 8% 8% 0
fazal=] 89%6
[ 626
S 270
CAE(28)(HEAY) 442,393 442,393 0
101 e124d| 44,760 46,760 A2,000
M ORNZZ2NSE S 44,760 46,760 22,000
ogz2eld 44,760
201 Zet=d] 12,000 10,000 2,000
01 AlR2teldl 8,000 7,000 1,000
OX&S R S 8,000
2 s=5=34l 4,000 3,000 1,000
Oty &Xt 7F7Hl S 4,000
202 048l 1,122 1,122
01 =LHOHI 1,122 1,122
g 838 S 1,122
401 AlEHIZL SO 384,511 384,511
01 Al&ZHI 376,630 376,630
O=ZMe 135,352
OXge= 131,000
OogE=s 90,000
OAtE & 20,278
02 2/l 7,600 7,600 0
OFEV 3,600
U 4,000
03 AIZ 2 THYI 281 281 0
O7=Me 281
LCFHHI(EE) 18,000 0 18,000
201 et 3| 18,000 0 18,000




A ARITEOIRA
M pARlEAEE
ool CRR! AR (chol @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 18,000 0 18,000
O2E=&Hl 18,000
CRE ML ES 3,257,074 6,266,299 A3,009,225
= 713,531
= 2,543,543
ATIANEY AlE(EE) 81,000 81,000 0
= 56,700
= 24,300
401 Al HIZL R 0HHI 81,000 81,000 0
= 56,700
= 24,300
01 Al&HI 80,600 80,600 0
O&FXIArE 80,600
= 56,420
== 24,180
03 Al =2 THHI 400 400 0
O&XI AL 400
= 280
= 120
HEEE AL (EE) 193,955 193,963 A8
= 135,828
= 88,127
202 04l 1,552 1,552 0
= 1,086
== 466
01 =LHAHI 1,552 1,552 0
OH=F=2H 1,652
= 1,086
S 466
401 Al HIZ R 0HHI 192,403 192,411 VaN:
= 134,742
= 57,661
01 Al&HI 187,575 187,583 A8
OHFEH 187,575
= 131,291
=S 56,284
02 Zeltl 4,440 4,440 0
OH=R=2H 4,440
= 3,180
& 1,260
03 A& S CHYI 388 388 0
OAzEH 388
= 271




A MRITIReIRA
M pARlEAEE
&elr ERE M2AelES (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| = 17
AR AIE(E38) 250,000 250,000 0
= 175,000
= 75,000
202 04| 2,000 2,000 0
= 1,400
=S 600
01 2LHoIH 2,000 2,000 0
OAtZE 2,000
= 1,400
S 600
401 Al HIZ S OHHI 248,000 248,000 0
= 173,600
= 74,400
01 AlZ8| 242,100 242,100 0
OAr & 242,100
= 169,470
= 72,630
02 Zeltl 5,400 5,400 0
OAtZd 5,400
= 3,780
[ 1,620
03 AIZSTHYI 500 500 0
OArg & 500
= 350
= 150
AETHSH Kl EOI(MSHEHSHE LR _2) 97,618 97,618 0
= 48,809
== 48,809
101 @124H| 81,018 81,018 0
= 40,509
[ 40,509
04 JIZtNZ22 NS+ 81,018 81,018 0
OUEaiS0E LaE 81,018
= 40,509
= 40,509
201 =3 11,600 11,600 0
= 5,800
= 5,800
01 At2teltl 9,000 9,000 0
Ogtdle=d & 224 2578 S 9,000
= 4,500
== 4,500
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A ARITEOIRA
M pARlEAEE
&elr ERE M2AelES (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 S5=g4l 2,600 2,600 0
OogNE =% 78 S 2,600
= 1,300
< 1,300
202 04| 4,000 3,000 1,000
= 2,000
= 2,000
01 =LHOHI 4,000 3,000 1,000
Outggaois o2 =a 4,000
= 2,000
= 2,000
206 M=l 1,000 2,000 21,000
= 500
& 500
01 MZH| 1,000 2,000 1,000
OUSEHSLMEM & =7 S 28 1,000
= 500
= 500
A SU S LA (EE) 10,100 10,100 0
= 5,050
= 5,050
401 Al HIZL 201 10,100 10,100 0
= 5,050
== 5,050
01 Al&H| 9,800 9,800 0
OJIEt =2EaliE A 9,800
= 4,900
< 4,900
03 AlESTHYI 300 300 0
OJIer =2dalis M 300
= 150
= 150
SURTHASE UHRFA S LHAIE(EE) 994,600 644,000 360,600
401 Al HIZL 01| 994,600 644,000 350,600
01 Al&H| 974,000 582,000 392,000
OLUSMAEE HLURFAL S Xl 974,000
02 Zeltl 20,000 60,000 40,000
OALRMEEE HYLIRTAL S SXl 20,000
03 AlESTHYI 600 2,000 21,400
O2LURMHESE HELIRFAL S SHXl 600
AEXSHH 2= X 2H(EE) 7,698 7,698 0
= 3,076
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A MRITIReIRA
M pARlEAEE
&elr ERE M2AelES (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OXEREU & X FAL 22,500
202 04l 9,450 5,950 3,500
01 =LHOHI 9,450 5,950 3,500
O=FMar2e] HRFA 9,450
401 AlZHIZ SO 42,000 32,000 10,000
01 A28l 42,000 32,000 10,000
OFA 2 42,000
405 KHakE SH 18,550 21,250 A2,700
01 AL =S F = 18,550 21,250 22,700
OARA IR 7Y S 18,550
XX Reis e (28) (HeAe) 500,000 3,865,000 A3,365,000
202 04l 6.000 9,000 23,000
01 =LHA LI 6,000 9,000 A3,000
OFYY T4 D2AUS Y ALHOIE I8
EXS 6,000
401 AIEHIZ SR THYI 494,000 3,588,000 A3,094,000
01 AlZ8| 482,000 3,500,000 A3,018,000
OXeis2d AL 2F(128 A=, €Al 2
&) 482,000
02 Zeltl 11,000 80,000 69,000
OF <8 =dSAk 2l 11,000
03 AIZ2THYI 1,000 8,000 AT7,000
OF2E ZdAMY AIZR0HHI 1,000
Mgy 2e(28) 18,000 15,000 3,000
201 fet=3| 18,000 15,000 3,000
01 At 22|l 5,000 0 5,000
Ozel=8 78 8 5,000
2 35244l 13,000 15,000 22,000
Os&s2d &l S 13,000
AEUXN XU (2E) 400,000 0 400,000
= 160,000
[ 240,000
401 AIEHIX S0 390,000 0 390,000
= 156,000
= 234,000
01 A28l 381,480 0 381,480
Outt=2 XU SHE 381,480
= 152,590
= 228,890
02 Zeltl 7,520 0 7,520
Ot = XN SHE 7,520
= 3,010




A ARITEOIRA
M pARlEAEE
&elr ERE M2AelES (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 4,510
03 AlESTHYI 1,000 0 1,000
OMEL XU SHIE 1,000
= 400
= 600
405 AHaHE = 10,000 0 10,000
= 4,000
< 6,000
01 ML ESFSHI 10,000 0 10,000
Ot =X SHIE 10,000
= 4,000
& 6,000
SEIHEFS 972,344 991,488 19,144
= 479,689
= 492,655
ZE(28) 72,028 144,326 NT2,298
= 29,531
s 42,497
202 04| 864 1,422 558
= 354
< 510
01 =LHOHI 864 1,422 558
OES= 864
= 354
S 510
401 AIEHIZ SR HYI 71,164 142,904 AT1,740
= 29,177
= 41,987
01 Al&HI 65,108 136,929 AT1,821
OES= 65,108
= 26,694
== 38,414
02 Zeltl 5,840 5,720 120
OX8 5,840
= 2,3%4
= 3,446
03 Al 20HHI 216 255 A39
OES=! 216
= 89
=S 127
N Ss 2 (2Y) 104,084 104,084 0
= 52,042
< 52,042

&




A ARITEOIRA
Hm: NRBADE
&l MRS (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
202 04l 1,250 1,040 210
= 625
== 625
01 =L 1,250 1,040 210
OXNEEstxE 1,250
= 625
& 625
401 AIEHIZ SR OHYI 102,834 103,044 A210
= 51,417
= 51,417
01 Al&HI 100,022 99,812 210
OXEE3t A 100,022
= 50,011
s 50,011
02 Zeltl 2,500 2,400 100
OXSSstxd 2,500
= 1,250
= 1,250
03 Al 20HHI 312 832 A520
OXgSatxd 312
= 156
= 156
MR EE) 796,232 607,478 188,754
= 398,116
[ 398,116
202 0o4dl 6,370 4,860 1,510
= 3,185
= 3,185
01 2K 6,370 4,860 1,510
=R 6,370
= 3,185
= 3,185
401 Al HIZL 201 789,862 602,618 187,244
= 394,931
== 394,931
01 Al&H| 733,156 557,404 175,752
O=Jt30| 733,156
= 366,578
< 366,578
02 Zeltl 55,114 44,000 11,114
O=JH20| 55,114
= 27,557
= 27,557
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